MPM1D9 Semester 2,2014 - 2015 |
| Grade 9 Pre-AP Math
Unit 1 — Number Sense and Algebra — Qulz 2
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“Which expression CANNOT be simplified? (1 KU) / »

1
(ay 2x+9x (b) a+§a (c) 5p2—7p2 @5n2—7n

2. d Which statement is FALSE? (1 KU)

1 :
(a) —3a and 4b° are unlike terms. (b) 3’ 3 and —0.7 are like terms. /

(¢y’ Like terms have equivalﬁnt variable pa‘é x, x” and 2x’ are like terms. X ,
—l&ab {oﬂyoﬂf'{'&rh".

C Which stateffent is TRUE? (1 KU)

w

2 2
(@) —3a 4b2) cannot be simplified. X (b) In the expression —-3a(4b ), —3a and 4b
are unlike terms. }‘lc_g /5 wT terns
30(4172) simplifies to —12ab” . (d) x+x*+x’ simplifies to x°. ><
4. b The side length of a square is 5x’. What is its PERIMETER? (1 KU)
y/ 25x¢ 20x3 (¢) 20x° () 25%°
5. AThe side length of a square is 5x°. What is its AREA? (1 KU)
25x° (b) 20x’ (c) 20x° (d) 25x°
» Wsﬁ//o?on

Modified True/False (5KU) A= (52’1 X 54('2) = 5, 96

Indicate whether each statement is true or false. If false, change the underlined part to make the statement true.

6. T/F F 25 32(79&) ;733a8 Change: 23 32-5 /
7. TIF E V The expression “—2x"” means “(-2x) -2x)(-2x).” Change: "Q( 7()( ’A)( ?\Y?( )‘/

(_ »
8. T/F The expression “5 — 3x” means
“triple a number reduced by 5.”

hange: 5/‘&/(4@6/ bV ﬁlp/fcl #
9. T/F E The expression “3b +5b” simplifies to E i Change: gk \//

10. T/F ‘ The expression “3b (Sb) » simplifies to “8b .” Change: ‘ 519 \/(

./5(5 (b U> APP TIPS COM
(5b i —0 -01-0 -0 |




11. Evaluate. (10 KU)

= -q-(-%32)~ (~9

?/

- 2q+32
=74 - |
12. Simplify each of the following expressions if possible. Show all steps! (16 KU)
(a) ~7a’b+3ab-3a’b+7ab (5a’b+3ab)-(6a’b+7ab) yazb@ab
= 7Pb-32b %l = 5 Fabt(-bab —7ab)‘/ 530N BY(b)
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= IQQ/L—HO% —_—%ﬂkwéqub-tgak'%b / Can be, p&rgl ym
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(d) (~7a’b)(+3ab)(-3a’)(+7ab) © 212V (um&«g?tnv&y )
= U3 ) LX) iy
3N BX'IXG%KX E‘?\L X XbX ) _ -—1315‘ ) -Y——~> C/’(a e = abe)
= 44 b “\5"“3) (aszociative
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13. Write fully simplified expressions for both the perimeter and area of the following figure. (8 TIPS)

(a) Perimeter (b) Area — Axtix=13x
P= 3 10y Qx+ay s A=At Ry il
+gy+@7 Y\/ ’%X(byﬂx (‘Q}’) - - Dlj TST
= Bt Qi toy sy 12y4 ) = 73 ” iy
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